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Step Action
1 Settle P distribution according to each scenario
Using 100 simulation, determine one single P value
9 Find out the best—fit parameters for each distribution
(Exponential, Gamma, Lognormal)
3 Apply the one single P value and best-fit parameters to the VCPM model
4 Generate S, using S ~ Exp(1/500,000)
Assign this month band to each S@), i = 1,2, ---, 10000
5 Generate 10,000 uniform random number
Using transition matrix, determine previous month band
6 According to previous month band, u(i) is determined
7 Assign p(i) for i = 1,2,-+-,10000 (distribution is applied)
Calculate S1 = S*P
8 Individually, it is s1(G) = s@)*p() for i = 1,2,-:+,10000
S2 is calculated that S2 = S - S1
9 Calculate A = S1-min(S1,u/rl)
10 Calculate D = (S1-A)#rl + (S2+A)*r2
11 Calculate R = D/S
12 Repeat 3~11 by 100 times
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